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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

WIONg answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.

i

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.ILR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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1. Lack of which of the following vitamins in. 1.
humans may cause anaemia?
(1) Vitamin B2
(2) Vitamin By
(3) Vitamin B>
(4) Vitamin Bis

2. The vapour pressure of a pure organic liquid 2.
(M = 80) at 30°C is 0.850 atm. A non-volatile,
non-electrolyte weighing 0.5g is added to 40g
of this organic liquid & then the vapour
pressure of the solution is found to be 0.845
atm. Calculate molar mass of non-volatile
electrolyte- .

(1 95
2 32
3) 170
4 64

3. Among the following carbonyl compounds, 3.

least reactive for neucleophilic addition is —

(1) Butanone
(2) Propanone
(3) Propanal
(4) Ethanal
4. A tertiary alcohol shall be obtained by reaction 4.
of RMgX with -
(1) HCHO
(2) RCHO
(3) RCH:CHO
4) RCOR

5.  Assertion (A): Phenol is a stronger acid 5.
than an alchol.

Reason (R): Carbon atom in phenol to
which -OH group is
attached is sp® hybridized.

Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both(A) and (R) are true and (R) is not
the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true

sEiforRag § & g Ry & = 9
IRTTT A1 H B Al 87

(1) fdeIF Bz

(2) fIei® = B,

3) faeif™ B,

@) fIeif¥T Bis

30°C R U% fgE HMS 59 (M = 80) BT
I g9 0.850 atm ® | U IfaraEia g,
FRITECT BT 0.5g W19 40g 59 HEMNT w4
A foremar T, @ Rems &1 9wy 519 0.845
atm YRIT 41 Eroie fOea smEeg &
AleR 919 9T BRI |

L 95
2 32
3) 170
@ o4
FenfaRag aEiNa diffel § e S8
gl"rl'a:liﬁ R & ve9 B9 i $=
?
(1) e
(2) wWEE
(3) WA
@ VI
T& A Teblsicl WISl ST 8, RMgX @t
@”TQT o
(1) HCHO¥
(2) RCHOW
(3) RCH:CHO¥
4) RCORY
AT (A): Tl TP Topleid @
AT AeF ugH A
BT &1
BHROT (R): i 4 59 oEe
A ¥ -OH w8 ST
& 98 sp’ GoRd &
A SR Al —
(1) =H(A) SR (R) WA € s8R R), (A)
BT el AT Bl &
2 =F(A)SR R) T § WG (R), (A)
P B AT el HRaAT &
3) (A)¥H 2 3N (R) 3vg ®
@ (A)Iwg 2 IR R)TH
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In the reaction sequence - 6.
C,H,Cl —2— CH, =CH, —B 5 CH,Br
I
CH,Br
C

CH=CH<«2 _CH,=CHBr

the reagents, (A), (B), (C) and (D) are -
(1) (A)=Alc. KOH; (B) = Brz; (C) = Hot
water; (D) = NH3
(2) (A)=Alc. KOH; (B) = Brz; (C) = Alc.
KOH; (D) = NaNH:
(3) (A)=Aq. KOH; (B) = Br; (C) = Aq
KOH; (D) = NaNH»
4 (A) =Ag OH; (B) = Clz; (C) = Alc.
KOH; (D) =KNH:
For a pericyclic reaction, untrue statement is - 7.

(1) The electron are reorganized in a
cyclic manner.

(2) The reaction is concerted.

(3) Reaction is highly stereo selective.

(4) The reaction is generally affected by

catalyst or by a change of solvent.

Identify the incorrect statement about carboxyl 8.
group -
(1) Carbonyl carbon is electrophilic.
(2) Carbonyl oxygen is electrophilic.
(3) High polarity of carbonyl group is due
to resonance.
(4) Carbonyl carbon and three atoms
attached to it are in the same plane.

Among the following variables - 9.
(a) pressure (b) volume
{c) temperature  (d) composition
Which ones are state functions?
(1) (a)and (b)
(2) (b)and (d)
(3) (c)and(a)
4) Allof(a),(b), (c)and (d)

~

! an
afafear go —
C,H,Cl—A 5 cH, =cH, —B > cH,Br
!
CH,Br
C

CH=CH «2—CH, =CHBr

7 (A),(B), ()R (D) & =
M (&) = Tepielies KOH; (B) = Br;
(C) =1 WieT; (D) = NH3
(2 (A) = Yehieiierd KOH; (B) = Bry;,
(C) = UeIgifer® KOH; (D) = NaNH,
3 (A) = Sl KOH: (B) = Bry;
(C) =%Teiid KOH: (D) = NaNH;
4 (A = Ag OH; (B) = Cly
(C) = TedIElfere KOH; (D) = KNH;
TP WaEfias e & ddy #§ e
P & —
@ ?‘d«fﬁ aisfaerd wmie 9 FTafey
|

2) %Tmm wfFAferd (concerted) il
|

(3) ;ﬂ;ﬁgmmﬁmﬁﬁaﬁﬁﬁﬁﬁ

|

(@) SWE Er fars uRed= 9§
sifafssar ur: wvifee 25 21

DEIE HE B Wem A Wd HH

TEEEl —

@) %Em‘fﬁamﬁﬂsaa;ﬁ—ﬁ@rsﬁm
F .

() oEiNa  sifeded, sAggA—wE
BT B

() PEINT T B Izd gaal AR
P PRI B! 2

@) SR FET @ T gs dHT

ULHIY] U B AAad W B 8 |
EffeRad axt & —
(@ <9 (b) 3T
() T (@) weEes

PBIT q SGTRIT Bel &7

(1) (@3R(b)

(2) ®3IR@)

3 ©IR@

@ i (2), ©), () IR (D)
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10.  1f > js an Eigen function of the operator 7:; , Ifg &> sifuvex % BT AT B 8, al
what is the Eigen value? M A FAT BIIT?
(1) 2a (1) 2a
2 2 2) 2
(3) ezx (3) ezx
@ 1 @ 1
11. When the bond order between carbon atoms in 9 TN, TR SR vRifeelm # e
ethane, ethylene and acetylene increases, then - JRATSH & ey Bile ¥ gig Sl B, < —
(1) bond length and bond energy both Q) 99 e 3R 9 Sl ST 9o B
increase,- e ; : ;
rease, (2) o &9E AR 9y Tl qF Hed B
2) gggi aieegtgth and bond energy both @) i s N 2 ol § ol god
(3) bondlength decreases and bond energy gl )
increase. (@) 9 FaE gl ? SR ¢ Sl gedl
(4) bondlength increases and bond energy 21
decreases.
12. Identify z — configuration - z — AT YEEIig —
CH3\C/H CH3\C/,H
@ I @) 11
C C
Cl 7N Br Cl 7N Br
CH3\C/BI CH3\C/BI
) Ll (2) 1
C C
a”” N a”" " NH
H Cl H Cl
Ner Nes
3 [ 3) I
C C
Br” Nl B Nl
CHS\C/H CHg\C/H
@) [l @) |l
C C
Br” Nal Br” Nl
13. For the calculation of standard molar enthalpy H0(¥) &1 E§aT & AleR 99 T
of formation of H20(g), the reference standard Bl TOET %‘g’ ded 9FE JEwRn Tel § -
state is not -
(1) 25°C temperature g; :i‘sooctmqm
(2) 1.0 atm. pressure -V atm. )
(3) H:and O; in gaseous state 3 Hz 3R O I srawm
4) STP 4 STP
14. In Nessler’s reagent, the active ion is - FeR sifEHe A afha e € —
(1) Ag' (1 Ag'
(2) Hg" () Hg"
(3) [Hel]? (3) [Hghl™
4 [Hgl]? @ [HgL]?
14- 1‘ Page 4 of 32
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15. Assertion (A): The nitration-of toluene 15. e (A): TSI @ A8e¥E W 0’7
produces larger percentage of et Swrg @ wfiemer
para substituted products than 3ty Saure B anEnr =
‘ortho products. I 2

Reason (R): Tle para position shows no steric HROT (R): it Ry iy Ry arn
hindrance. S AT B

Select the correct answer - & TR g?{‘[ _

(1) Both (A) and (R) are true and-(R) is the A =R () d@R ®) T@ & @R ®),
- correct explanation of (A). (A) B T e 1

(2) Both (A) and (R) are correct but (R) is @) WA R R) T ¥ R (R),

not the correct explanation of (A) (A) & FE AR T8 B &

(3) (A)is true but (R) is false 3) (A) T & @R (R);39 &

(4) (A) is false but (R) is true @ (A) I\T ¢ AR Ry 97

16. Assertion (A): The paramagnetic moments of 16, W@ (A): La** 3k Lu® g1 &

; La* and Lu** is zero. AT 31TE|°'UT T T
Reason (R): La** and Lu** have no unpaired BT (R): La** &l Lo & igfve seiagie
electrons. &l
Seiect the correct answer - e X ufgmmr —
(1) Both(A) and (R) are'true and (R) is the @) =FA) 3R ®) T § @Rk @),
cone(?t‘ éxplmgtidn of (A) (A) &) L = & -
(2) Both (A) and (R) are true and (R) is not @) = (A) AR R) T $ = (R),
. tlhlg correct“expla}nat1on of (A) (A) B TE T TE Fea 3
(3) (A)istrue and (R)is false @) (A) ¥ ¥ &R (R) e &
(4) (A)isfalse and (R) is true @ (A) o3 B ik R) 5 2
17. Who described the utility of hudio — visual aids  17. Rwmor i wfpar & RW #=-g=
in teacfiing learhing process by his cone of AFRIT @1 SRR B U I T 5N
experiences? e guis foar?
(1) Edgar Dale 1) TSR I
(2) Edgar Bell @) TSR Ao
(3) Edgar ?rain @) TR
(4) EdgarRayn @) TSR
18. Frofn the following information : 18. eEiforEa go=r 9 —
Hg() + Cla(g) — HgCla(s), AH=—224 T Hg(l) + Cla(g) — HeCla(s), AH = —224
He(1) + HeCla(s) — HezCla(s), AH=41.2 F Hg(l) + HeCla(s) — HezCla(s), AH=41.2J
Calculate AH for the process — AT & AH &7 7o oY —
Hg>Clo(s) — 2Hg(1). + Cla(g) HgzCla(s) — 2Hg(l) + Clx(g)
(1) 26527 1 265217
(2) +183.8J (2) +18387
(3) -183.87 (3) -183.87
(4) +265.2] 4 +26527
14-=& Page 5 of 32
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19. Among the following steps in Ho & Brz
photochemical reaction, which one is an
inhibition step?

(1) Brz+hv—2Br
(@ Br+H:—>HBr+H
3) HBr+H—>H:+Br
4 Br+Br—Bn

20. Among the following isoelectronic ions, which
one has least radius?
(1) Na*

2) o~
3 F
@ Mg*

21. Who was the propounder of sociocultural
theory of cognitive development?
(1) Jean Piaget
(2) Jerome S. Bruner
(3) Lev Vygotsky
(4) William Wundt

22. A molecule has enough electrons to fill
15 MOs. Which of the following statement
about this molecule is not true?

(1) The 15 MO’s with lowest energy shall
be filled first.

(2) The 15% MO on the list shall be called
HOMO.

(3) The 16" MO on the list would be
LUMO.

(4) The larger the energy gap between
HOMOs and LUMOs, more easily a
molecule’s electrons shall be excited.

23. Assertion (A): Lanthanides do not form amine

complexes in water.
Reason (R): Water is weaker ligand than
amine.
Select the correct answer -

(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(2) Both (A)and (R) are true and (R) is not
the carrect explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

19.

20.

21.

22.

23.

IfRfFa & el # s FRue 1T 27

(1) Br;+hv—2Br

(20 Br+H:->HBr+H
(3 HBr+H—->H;+Br
@4) Br+Br—Bn

sreforRad TR AT H, =~ B

ey 87
(1) Na*
2y o*
3 F
@ Mg*
REIRIS A EE mmwﬁm
Rrgia @ sliues a9 97
Q) < I
(2) SRM TE. TR
(3) <9 IEIEED
@ fferm goe
ew;%mﬁwMoqﬁmw’rﬁ
Wﬁ%iaﬁ%@amﬁrﬁaﬁmsﬂ
3] & forg Wy T &7
(1) =gAqa Seff 9 15 MO |aueid |
SRAT |
(2 I # 154 MO B HOMO wem
SR |
(3 g § 169i MO, LUMO BT
(4) HOMO 3R LUMO & w7 Rya=r
Sl SfER SIfSIE BFT Sa+ &).3EREN
| goige SAfed &1 WA |
AT (A): TOFTEE Wit § WA Aol
SRS IR
FRO (R): STef, WA 1 3 geat ferls
g1
T SR gl —
(Dﬁmm®wﬁﬁ®
(A) & 2 I=T B
(2) =Fi(A) 3R (R) W@ € R (R),
(A) &7 98 ST T8 Bl §
3) (A) ¥= g R (R) svw #
4 (AU EIR R T &
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24. 36g of glucose, CsH120g, are dissolved in 2kg 24,  2kg el A 36g 7@, CeHiO6 e €
of water in a vessel. At what temperature (°C), 39 fde &1 TaFiE (°C) gy Brm? fear
the shall boil? Ky for water is 0.52 K kg mol™! E 9 & folw Ky =052K kg mol!

(1) 273K (1) 273K

(2) 100.52°C (2) 100.52°C
(3) 99.948°C (3)  99.948°C
4) 100.052°C 4 100.052°C

25. The transition elements (3d-series) ion having 25. 3d—Sof & <HsmAEOT El'lg&ﬁ & Al H
the configuration given below, shows SENfRET EREAT BT B AT SIEH
Jahn-Teller effect? SITE—<eR Y41 :ﬁ':'gl @ﬁﬁ'[ }E

(1) d() (1) do h
(3) le (3) le
26. Identify the untrue statement about an  26. Sﬁ'ﬂ@%ﬁﬁﬁﬁ 3@% 35 oy ¥, 3
electrocyclic reaction - BT & —

(1) Itis an inter-molecular reaction. (1) I8 TP IJR—AYH JMfHar 81

(2) A reactant converts into cyclic (2) @ INEHe dEfdae Sag ¥
product. gRafda & s g1

(3) It is areversible reaction. (3) T TH SohAvi amfear 2

(4) When it reverses, a 6 - bond in cyclic @4 <e ko Red =/l & o
compound breaks to form a conjugated ATsfFere TIRIG @7 Uh o—a TP
T - system. Th g n—Red o 81

27. Which is not antihistamine drug? 217. ;ri%r——i%wm ST T8 B —

(1) Iproniazid (1) sTEuFERTS

(2) Ranitidine @) XEREH

(3) Cimetidine @) RmfeEH

@ Brompheﬁiramine @ ST TRETE T

28. NMR signal is generited due to absorption 28. NMR WaeH fha fAfd=or & smawimo 4

of - S BT 87
(1) Infrared radiation (1) 3R fHo)
(2) Microwave radiation (2) wEHEg fheo
(3) Radio waves (3) ¥ T
(4) UV radiation @ UV R
29. Assertion (A): Lanthanides may be used as 29. ffEeE (A): SFONTEE @B 59
biological tracer of drugs. BIEIGINIETC] W $ w9 ¥
Reason (R): Lanthanide absorption peaks are TERT &R 96a & |
narrow and very characteristic. BRI (R): ??79)3133 BT T Np HHiop
Select the correct answer - U9 AEPE Bk B
(1) Both (A) and (R) are true and (R) is the [E S ?:Fﬁ -
correct explanation of (A) @D IF@QA) IR ® w@ T IR ®),
(2) Both (A) and (R) are true and (R) is not (A) 3T Wl ] Bl §
the correct explanation of (A) (@ = (4) IR ®) 9 & (R),
: . (A) F He! =T T8l HRaT
(3) (A)istrue and (R) is false B) (A) T & 3R (R) s 2
(4) (A)is false and (R) is true @ (A) o% & ok R) °ea & )
14- Page 7 of 32
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30. Assertion (A): AlOH); is preferred as  30. AWM@AT(A): ANOH); & 9 g
antacid over other metal sifeergs! Td sEsaass]
- hydroxides and oxides. T e AR I B w
Reason (R):  AI(OH)s is insoluble and Fie T B F
does not increase pH over BRI (R): Al(OHD); &if3ert & T pH
. FT A 7.0 ¥ ARG &
Select the correct answer - S m:a_c:;ql
(1) Both (A) and (R) are true and (R) is ) .
the correct explanation of (A) M = ) IR (R) ¥ ¥ 3l ®).
(A) BT TE =TT &
(2) Both (A) and (R) are true but (R) is not @) S @A) o ®) ¥ 3 th ®),
the cg{arect explanation of (A) (A) BT TE =R TS B ¥
(3 (A)is true but (R) is false () (A)FHE & R (R) T &
4) (A)is false but (R) is true @ (A FIEIRR)FT B
31. In which of the following reactions, for 31. sEnforRae afafpamst & Fad st
replacement of diazonium group by a —Br TIE & —Br 99 ¥ uforenfia o= 3 forg
group, copper powder is used as a catalyst? PR TTSSY SORP D ®T § T F8 Bl
87
(1) Sandmeyer reaction 1) SR i
(2) Gattermann reaction ) Hewar ffpaT
(3) Reaction with KI (3) KI @ s s
(4) Reaction with HBF, (4) HBE: @ wRr B
32. Crystal field stabilization energy for high spin = 32. 9= WUl d* ACGADA HHA @ Og
d* octahedral complex is - a8 ®mieRe ol e # oW
DI A 57
1) -06A0 1) -0.6A0
2) -1.8A0 (2 -1.8A0
3) -1.6A0+P 3 -1.6A0+P
4 -12A0 4 -12A0
33. 'Which of the following is the correct formula 33. f=foaRag § 9 oFar sa &1 Wwreg
for systematic behaviour theory of Hull? FqeR Fgia $1 w8l 9 &7
1 S-0-R (1) TI—N—3IR
2) S-E-R 2) TH-I—9R
@) S-A-R (3) TETIR
@ S-I-R @) TEIE-IR
14- $ Page 8 of 32
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34. Identify the R configuration - 34. R I<=AT USANNQ —
Cl Cl —
./-"
(D CH,CH2CH1——}—f CH,CH, (1) CH;CH.CH;= //C/Hzcm
H H
CH, CH,
| @ H OH ) H I OH
CH,CH, CH;CH,; 1o
0 O
[l |
C-0OH C-OH
(3) )] 19 TI0
H CH, H CH,
OH OH
CH, CH,
@ HO H @ HO H
CH,CH, CH,CH,
35. Which of the following is not the 35. Tr=ifefad # ¥ SIH AFfe w0 @ W@y
characteristics of mentally healthy person? i 1 fasmar =2 87
(1) Emotional balance 1) wiafe g
(2) Socially adaptable (2) IMIfSe ®Y 9 agw'v’i’ra
(3) Impatience 3) aefiRar
36. For the reaction Nz + 3H, — 2NHs, 36. i No + 3H, — 2NH; & RU Il
i AL 5 107 mol L §, the value of ADU] 3 x 107 Wi chiee! davet A,
-AEZ—]would be — —A[H?‘] T A BRI —
(1) 1 x 107 At <fiew! Jwmvs!
(1) 1x10*mol '8! (2) 3x 10 A e dEve!
(2) 3x10*mol LS8! @) 4x 109 e dwre!
(3) 4x107mol L 8~ @ 6x 10~ die efex Jpvs!
4 6x10*molL!S™!
37. Number of electrons that can be accommodated 37, n+1=43 Wi el § afwad saagEl
in all the orbitals with n +1=4. Py g ' —
o 6 @D 6
@ 3 @ 8
3y 10 3 10
4 2 @ 2
14-4 Page 9 of 32 ¢
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38. Among the following radicals, most stable 38.
~radical is -

) CH=CH _

2 CH=CH-CH,
R
I
3 R—C*
l
R
R
I
@ R—C*
l
H

39. Identify the untrue statement about substitution ~ 39.
— X group in CsHs -

(1) AG*for the reaction :

CeHs — CsHsX is close to zero.

(2) The addition reaction:

CéHs + X2 — CsHgXz is highly
endergonic.

(3) E. for formation of addition product
CeHsX> is higher than for the
formation of CsHsX.

(4) The non-aromatic product CsHeX: is
as stable as CsHsX.

40. On the basis of given AH and AS value signs ~ 40.
for four reactions, identify which one shall be
spontaneous at all temperatures?

(1) AH=+; AS=+

(2) AH=-; AS=+

() AH=-; AS=—

4 AH=+; AS=-

41. The incorrect statement about nitration of 41.
benzene is -

M IJ(IO2 acts as an electrophile.
(2) H,SO4 acts as an acid and HNOj acts

GET IT ON
Google Play

sENfaRaeT qami + waiftes wrg § -
M CH=CH
® CH=CH-CH,
R
l
® R—C®
|
R
R
|
4 R—C®
|
H

CeHs ¥ — X WHg & URRemTT & <y o

I HF TEEIHY —

(1) AGewT 9+ fafser -

CeéHs — CsHsX T 3T 2 |
Tfepar

gsHs +X— C6HelX2 3T HoTesT

|

(3) TG G CsHsXo T59 B B,
CeHsX S99 &1 21dem 929 |

(@) S RFeH IAE CsHeXa,

CeHsX & waM R &)

W NS AH 3R AS @ AW & R 3R
AEpaRl & forg, ufRart 5 seifoRe o
DI G d4f W @ aRafdg 8RR
(1) AH=+; AS=+
2) AH=-; AS=+
(3) AH=-; AS=-
4 AH=+; AS=-
@%H@H%Wﬁmw
D +
NO, to seegi-widl @ e
FTER BT B |
(2) H2S804T® 37T &I TR IR HNOs

2

f

as a base.
(3) Nitration is an electrophilic TP 8RH Bl TRE I el B
substitution reaction. (3) TEgE Q;’; Sl T—ETE! HRreRT
(C)] N1tro. group has + I effect in directing @ 1 lﬁ; m +1 & .
substituents. el W TR SIS g STer
gl
14-% Page 10 of 32
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42.

Which of the following is not the componentof ~ 42. fFr=fefad # & ST HaTHD g B
emotional intelligence? UcH 8] 87
(1) Emotional perception 1) <idfe goelieNT
(2) 'Emotional integration ) =i e
(3) Emotional understanding @) GfE st
(4) Emotional imbalance (@) I e
43. Intramolecular hydrogen bond is present 43. T # ¥ fbud srawiftad (Intramolecular)
in - gEeo 9 SuRe &7
. (1) Water 1) <A
(2) O-Nitrophenol 2) O-AEgItkA
(3) P-Nitrophenol (3) P-EItAE
44. Lineweaver — Burke plot is drawn between 44. M () &R TEe AFRdar [s] G =
velocity (r) and substrate concentrations [s] in g fdv—vo wife &y yer EEr S
which of the following ways? &
M = ands] ™ I dvs)
(2) rand][s] (2 r 3R [s]
3 I and @) 1 1
@ ranak " e 1
L 1
r and = @ ;. &R =
45. Which of the following is the wrong 45. Jagual & oguRr FeafaRea 4 9§ w9
combination of instincts and emotions, as given Aot UgRT 3R HaT BT Terd AT &7
by McDougall?
(1) Escape — Fear 1) YRS —
{2) 'Combat — Anger Q) I — BT
. (3 Repulsion —Disgust Q) ﬁﬂﬁf — gom
(4) Curiosity — Distress @) s — o
. 46.- Which of the following is the highest stage of 46, F=fReg § | TR ELURES]
: cognitive development given by Bruner? HSFId 9o @ |adied AawRl 87
(1) Enactive stage (1) <fsha erawen
(2) Symbolic stage (2) TIPS MR
(3) Iconic stage @) wffeEcs saen
(4) Sensory stage @) I amEwn
47. The incomect statement about complexes 47. WSS gRT 9N ¢ Hgal & wae 4
formed by lanthanides is - ST HAT DI AT &7
(1) Hard donor ligands are preferred. @ T T foriEt @1yl &
(2) High coordination numbers are often ST | _
favoured. (2) W ST EHEd e <@l Sl
(3) Af orbitals do not play a significant part &l _ _
in metal-ligand bonding. (3) 4 e "éﬂg—l?l l.g R
(@ Aqua ions are typical and T gl
' : (4) TIEr A Uil 3R Ye—gEa!
6-coordinate.
) B B |
14-% Page 11 of 32
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48. Untrue statement about Michaelis Menten

49.

50.

Constant K, is -

(1) Km = -—-—-k"]l;-*-kz
1

(2) Km equal to the concentration of
substrate at which the rate of formation
of product is half of the maximum rate
at high concentration of substrate.

(3) X is an equilibrium constant.

(4) K is a steady state constant.

The pH of a solution obtained by mixing 50ml
of 0.4N HCl and 50ml of 0.2N NaOH is -

@) -log2

2) -log0.2

3 1.0

4) 20
The teaching strategy, in which students of
different intelligence levels in the class learn

together in small groups is called -

48.

49,

50.

GET IT ON
Google Play

A B oRI—AeH ReRid Kn & Haer ¥ a1

P T —
O, _katk

m =

(2) Kn SY UIRE GFEAT § R &
T W STE 999 B 9T Sead
T A o 2, o, WA 5o 8

@) Kn T a1 feRkis §F

@ Kn TP IR0 ormen Renid ¥ |

T fFRA 0.4N HC1 9, 50 B @em 0.2N
NaOH &1 50 Tl fAdee sarm )
faers &1 pH 81T —

(1) -log2

(2) -log0.2

3) 1.0

@ 20

I8 Rueroregg v forad wer # fif= gfy
R & [qurll faex er-sR wE 3
REB} SIRH TR 8, PEATN & —

(1) Step learning (1) u= ST
(2) Brainstorming (2) AR Sger
(3) Co-operative learning (3) HEBNI ARAH
(4) Hierarchy learning (4 USTHA AR
51. Highest oxidation number of nitrogen is 51. {HaH e & Sedq SifefHRT i
in - &7
(1) NH; (1) NH;
(2) HN; (2) HN; "
(3) NH:NH: (3) NHNH;
(4) NH0H 4) NH:0H
52. The tendency of BFs, BCls and BBrs to behave  52. BFs, BC U3 BBr; & 3% 3kl @1 wifa
as Lewis acid decreases in the sequence - FIER B Bl YgIRT BT TeaT g 559 & —
(1) BF;>BCl>BBrn (1) BF;>BCls>BBr3
(2) BCl;>BF; > BBr; (2) BCl>BF;>BBr3
(3) BBr3;>BCl; > BFs (3) BBr>BCh>BF:
(4) BBr;>BF;>BCl; (4) BBr;>BF;>BCl;
14-2 Page 12 of 32
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53. Ozonolysis of an alkene followed by reaction 53. TU® Ve B AP H & GTAR]
with Zn-H,O yields acetone and formaldehyde. Sl vd Rie 9 frar oW W e T
The alkene is — BHCEESE SE WIE B & | I8 Yo
3
(1) Propene O W=
(2) 2-Butene 2) 2-=H
(3) 2-Methylpropene (3) 2-dRraudE
(4) 2-Pentene @ 2-3<F
54, ACICH,COONa =224 ohm™ cm? gm eq’! 54, ACICH,COONa=224 31! @2 7 gedich !
ANaCl = 38.2 ohm™ cm? gm eq’! ANaCl = 38.2 i 9.2 91 Jedis !
AHCI = 203 ohm! cm? gm eq’! AHCI =203 3! &2 9 gedio !
What is the value of ACICH2 COOH? ACICH;COOH T A @47 &7
(1) 288.5 chm™! cm? gm eq™ (1) 288.53M! WA UM qRIid!
(2) 289.5 ohm! cm? gm eq! @) 289.5 &l 2 am Qe
(3) 388.8 ohm™ cm? gmeq! (3) 388.5 ART! N2 YW JeHih !
@) 59.5 ochm™ cm? gm eq™ @) 59.5 ! FH2AW g
55. When four litres of an ideal gas expands 55. TI§ U S7T&¥ ¥4 &I AR wilcy AU &Y
isothermally into vacuum until its total volume I TOR H¥ar 8, Fah ¥ 99 9% ImaH
is 20L, calculate the work done. Given 20 oeX <&l B T4, B P AT B |
R =0.082 L atm X' mol* f&ar @ R =0.082 L atm K mol™!
(1) 043071 (1) 04307
2) 0.01627 (2) 0.01627
3 50071 (3 5.007
4 00J 4 007
56. Standard molar enthalpy of the formation at 56, aEifeIRag # @@ G & TP AR
298 K is not zero of which of the following? T 208 K WX I T8I 87
(1) Br:(gas) (1) Br2(gas)
(2) Clz(gas) (2) Clz (gas)
(3) Na2(gas) (3) Naz(gas)
4) O2(gas) @) O2(gas)
57. Which of the following polymers is not found  57. 3rENfeIRad sgaa! # Hiam il iR SRl
in plants and animals? # & g e 87
(1) Buna-S (1) SET-—S
(2) Rubber 2 IR
(3) Starch @) wr
(4) Cellulose @) W‘_"
14-2 Page 13 of 32
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58. Maximum ozone found in the aliitude regionin 58, IRYHSH ¥ SOE Al &5 F IRHaT NS

atmosphere is - T N6 & —
(1) 0-10km (1) 0-10 fo it
(2) 20-30km (2) 20-30 f.
(3) 5060 km (3) 50-60 4L
@) 80-100km @) 80-100 R
59.  Assertion (A): Entropy of a solid at 59, RFHuT (A): TF I # WAAU W
absolute zero is found to be TR T Ui o 2
Zero. . SR (R): RAAY T ORI B G9g
Reason (R): Number of possible states . .
for the solid is one at ) SIS Y HEAT T 2|
absolute zero. el ST g -
Select the correct answer - (1) =TH (A)IR R)FF § @ik R),
(1) Both(A) aI;d (R)are l%n(lz )and (R)isthe (A) B TE IR B
correct explanation o
(2) Both(A) a];d (R)are true and (R) is not @ ) IR R) T ¥ g R),
correct expl (A) 1 W& AreA et 2
planation of (A)
@) (A)is true but (R) s false (3) (AT T IR R) 36T 7
(4) (A)is false but (R) is true @ (A)3wE B iRk R) ¥ ©
60. Assertion (A): In the bromination of benzene, 60. T (A): IS & SrNFHr & AN
the catalyst FeBrs is not added FeBrs I 98¢ 7 iy
from outside but generated FAfhar fAsor 9 Bry aomm
inside the reaction mixture by JTARA B Ve e
adding Br; and iron filings. SO HN B |
Reason (R): FeBr; readily reacts with BRI (R): FeBrs T4 & 1T digar & fbar
moisture and rendered inactive. o] JAAfharEder 8 oar 21
Select the correct answer - HEl SR g —
(1) Both (A)and (R) are true and (R) is the (1) =M () ik ®) v@ § ik ®),
correct explanation of (A) (A) B T RSN Bl &
(2) Both (A)and (R) are true but (R) is not (2 ‘@A) IR R) 99 & R),
the correct explanation of (A) (A) T el Al 78] Heal
(3) (A)is true but (R) is false () (A) ¥ T &R (R) IGF &
(@) (A)is false but (R) is true @) (A) % B iR R) ¥ B
61. T and V represent the kinetic and potential 61. T 3iR V ueRig &vd & 7w v R
energies respectively, then the Hamiltonian (H) Goll # L, A eRee T (H) o1 a9
is given by - BN —
M) H=T-V 1 H=T-V
@ g = < 2 pg=I
® H= TxV 3) H=TxV
@ H=T+V 4 H=T+V
62. Theincorrect statement about cyclopentadienyl 62, FigFalUCISISS Tl 3R Hgel FeCpz &
iron complex FeCp; is - weT § I B & —
(1) Oxidation state of iron in FeCpy is 2+. (1) FeCpy ¥ IRRT & siferfipwor
(2) Oxidation state of iron in FeCp; is TR 2+ T
Zer0. , (2) FeCp: ¥ T 1 Sifaiepeor e
(3) It is also known as sandwiched T R
compound. 3) E'z??f Jelda e f wea §
(4 Itis a metaflocene. @) TE P JeadT 2
14- 1‘ Page 14 of 32
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63. In the reaction: 2 ~bromo — 2, 3 —dimethyl ~63. RRHAT 2 Sl - 2, 3 -SEMATA T +
butane + RO~ — 2, 3 —dimethyl — 2 ~butene + RO — 2,3 —SEfREe - 2 -EH + 2,3 -
2, 3 —dimethyl — 1 ~butene. SERIEE - 1 -2
Maximum amount of 2, 3 dimethyl — 2 —butene 2,3 —STEMeEe -2 - S B IR o9
would be formed, when RO™is - TR, 19 RO EFIT —

(1) CH3;CH>O™ (1) CH;CH,O™
?Hs CH,
L, _ I
(2) CH—CO (2) CH—CO-
|
<13H3 CH,
. I
(3) CH.CH,— (130 (3) CH,CH,—CO~
. |
CH,CH,4 CH,CH, '
‘;H CH, CH,CH,
L I
(4) CHCH,— (I:o (4) CH,CH,—CO~
CH,CH, éH CH,
64. Consider the following reactions - 64. cwEifaiRaq sifafpaet w® ER &= —
(@  Crystallization of a liquid into a solid () TP %9 B O § fheceildeon
(b)  Raising temperature of a crystalline (b) frecci™ SR &1 § 0K 100K
solid from 0 K to 100 K qb Iy
(c) Dissociation of solid NaHCO3 © NaHCO; &7 fage
d H2(@—2H( @ H(@—2H(g)
In which of the above cases, the entropy Suad e Tt aedy &7
increases? ' '
(1) (a), (b} and (c) only (1) @, (b) 3R (c) B
) (), (c)and (d) only ) (b), (c) 3R (d) Baet
@) All (), (b), (¢) and (d) 3 (@, 0), ()R (@) wh
@ None of (2), (b), (c) and (d) @ @), ®),©IR@T F B @ T
65. Consider the following conditions of reaction :  65.  awliferRaa srfafsFar Temell W fIER o —
(a) Configuration of the reactant. () THIPRT @ E=AT|
(b) Number of double bonds in the reactant. (b) TrapRe F fgdui o T@|
(¢) Thermal-or photochemical conditions. © I IC | 34T Uhigl qm]'qﬁzﬁ SO
The configuration of the product in a pericyclic IWE B G UTSiers il 4,
reaction depends upon - fpR B & —
(1) (a) and (b) only D) (2) AR (b) Baa
(2) (b)and (c) only 2 () 3R (c) Bae
(3) (c)only
@) @
4) Allof(a),(b)and (c) .
@ @), )R W
14-2 Page 15 of 32
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66. Incorrect statement about organolithium 66.
compounds is -

(1) C-Libond is highly polarized.

(2) Organolithium reagents are strongly
basic.

(3) Organolithium compounds are starting
material for the preparation of other
organometallic compounds.

(4) Carbon in organolithium compounds
attracts most of the electron ions and
resembles a carbocation.

67. Consider the factors - 67.
(a) Valency of the metal
(b) The principal quantum number of metal
(c) Geometry of the complex
(d)  Nature of the ligand
The magnitude of crystal field splitting energy
Ap depends upon -
(1) (a)and (b) only
(2) (a),(b)and (c) only
(3) (c)and (d) only
(4) All of (a), (b), (c) and (d)
68. Assertion (A): The boiling points of carboxylic  68.
acids are higher than
aldehydes, ketones and

alcohols of comparable mass.
Reason (R): Carboxylic acids have more

extensive association due to
inter-molecular hydrogen
bonding.
Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not
the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
69. The reaction between an o, - bromo acid ester  69.
and a carbonyl compound in the presence of
zinc is known as -
(1) Blaise reaction
(2) Blanc reaction
(3) Reformatsky reaction
(4) Clemmensen reaction

GET IT ON
Google Play

Frefalrm Afe & doe & s/ger pod §
&

(1) C-Lidivs srafie gdiea &1

Q) JEfIRrm 4o aNeds gea
&P BRI & |

() oHEfaRrM AfE o Be-—eg
W%Wﬁmaﬁm
BT B B &

@) Eﬁm‘%@mtﬁﬁﬂﬁﬁﬁﬁ‘ﬁm
IS LA b 1 O B e O T
T & R U SEibeET odl
v BT 2

SENfaRag BRPT W fF=ar =T —

@@ g B Herwar

(b) O B I FICH AT

() Hge o Sy

@ forls = uefa

Theea &3 Rafew ol Ay &1 99 i

BT & —

(1) B9 () 3R (b)) R

(2) B9 (), (b) 3R (c) R

@) @ad (©) AR (@)

@) w0 (a), (b), (c) AR ()R

AAHYT (A): BEIFAID I B FaTIH
T GHI MR B UfeeElss,
DI U9 YohlEld O §=
B &1
BRI (R): Wﬁﬂﬁr@a@f{ﬁ@?ﬁ
UF FIERIOT S8 Bl

ﬂ'a“reﬁ?aﬂ’i—

1) IFi@) @R ®) @ E AR R),
(A) P 9 IARAT &

2) =Mi(A) 3R R) ¥ § R R),
(A) o I ARAT 81 &

(3) (A) ¥ & 3l¥ (R) 3T &

@ (A) I 8 3R (R) 9w 2

Niw #7 SuRafd ¥ o - 99 ofre Y ok
;ﬁtﬁlﬁﬁaﬁﬁmaﬁaﬁ@mmﬁ
(1) =9 sffear

(2) i AR

(3) RoRAcw fafrar

@ T e
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i70. Physisorption is characterized by all of the
s following, except -
(1) reversibility
(2) low enthalpy
(3) high adsorption of gases with low
critical temperature
(4) high surface area of the adsorbent

'ﬁu.-'

71. Mustard gas is prepared by the reaction of
ethylene with -
1) AICk
(2) SOCI
(3) ZnCl
4 S

72. Conformations  are  different  spatial
arrangements of atoms that result from -
(1) Rotation about a single bond
(2) Rotation about a double bond
(3) Reflection through a plane
(4) Translation along the single bond axis

73. Which of the following atmospheric molecules
absorb infrared radiation?
(1) HzO vapour
2 O
3 N2
(40 He
74. Organotin compounds -
(1) are used as pesticides.
(2) are used as preservatives of wood.
(3) are used in the production of
polyurethane foams.
(4) are not carcinogenic.

75. Untrue statement about Debye T law is -

(1) At very low temperature (0 < T< 15
K)Cp=Cv

(2) According to this law :
Cp=Cv=aT?

(3) The absolute entropy at temperature
(T < 15 K) is determined from the
graph of Cp versus InT.

(4) The absolute entropy is determined
from the graph of Cp versus T.

70.

71.

72.

73.

74.

75.

Wit aiftreimer # seifofRaa e+ o1 &
g R —
1) Sopair
2 =1 et
(3) A wivaw A (Tc) arel 4t &t
= erfErEnyer
@) ofrevE & ST IS &
s 19 M eg e e € ulteiE
Eﬁ-—' 1
1 AIChE ¥
(2) SOCL ¥
(3) ZnClh ¥
@ S:Ch ¥
Hiprrerd URAN @ R sl fomam
g o SO~ B € —
(1) U Tare 99 ) gPH
@) UF fgEgw w e g
(3) TP 9Fad & §RI WREGT |
(4) VP! 98 TR WA 9
rifeRad arRpFet sfell # BT sraved
it BT TN wwar 27
1 HO09™
2 O
3 N
@) He
fo

@ ﬁﬁm%mu@aﬂsﬁﬁﬁl
@ gasaaﬁgvf%awﬁrﬁggﬁaﬁ

|
(3) ?ﬂzﬁaﬁqﬂmﬁﬁnﬁﬁw&asﬁ
|

(4) DEFHRN A8l B B |

Ta1E T? | & ey § NI B § —

Q) FRTFEITTO0<T<ISK) R
Cp=Cv

(2) 39 799 @ 8MER : Cp=Cv =aT’

(3) f=Uer o= &1 99 @i (T< 15 K)
qﬁ?gﬁﬂﬂﬁ%Cpaﬁ'\’lnT?ﬁW
]

@ TR I AT Cp IR T &
UM% | Ui &R & |
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N N
76. A zinc rod is dipped in 0.1 M ZnSO4 solution  76. U [ic B8 BT 0.1 M ZnSO; fiieraT ¥ el
2 in which salt is fully dissociated. Calculate the T SR w9 59 faee # gl ﬁa’rl%m
potential of the half cell : g1 e e Zn(s) — Zn2+(aq) 4+ 2e~
Zn(s) — Zn**(aq) + 2e” & favg &Y TomT B, R € — /
. . Giventhat By ;24 = 0.76 V and = = 0.06. oz = 076V 3R XX = 0,06,
1) 096V D 096V
2) 082V 2 082V
@) 070V 3 o070V
4 079V 4 079V ¢
77. Calculate AG at 300K for the reaction : 77.  afdfhar 2NO(g) + O2(g) — 2NO»(g)
2NO(g) + Ox(g) — 2NOx(g) % fog 300K = AG & UM BT
Given that : AH = —120kJ and AS =— 150JK"! f&am & : AH=-120kJ and AS =— 150JK"
M) 165K @ 165K
(2) -85k 2 -8k
3) 825K (3) 825KkJ
4) -170kJ 4 -170kJ
78. The osmotic pressure of solution containing 78. TH 1 x 102M 3l fder @1 27°C W
1 X 10M acid is 0.248 atmosphere at 27°C. IRV €19 0.248 TTHIRGIR B | 37T &1
Calculate the Van’t Hoff factor of the acid. qre 8% Uik B O B | T Ty ?
Given that R = 0,082 L atm K! mol™. 5 R =0.082 L atm K*! mol!
(1) 1.00 (1) 1.00
(2) 046 P (2 046
(3) 1.50 @) 150
4 0.02 @ 0.02
79. Which of the following, gas has maximum 79. seNfeRad il § fraes! veilar aiffT gvrg
global warming effect? Hqifers 37
1) CO. 1) COq
(2) CH4 (2) CHa
(3) N0 3) N0
4 CFC-11 4 CFC-11
80. Which one of the following statements is not 80, 3ENf&iReg @l # S G
true for complex [Co(NHz)s]>+? [Co(NHs)s]** & <eaer & araeg 87
(1) It is paramagnetic. (1) <% =T & |
(2) Itislow spin. (2) I8 == Rug 2|
3) Itis octahedral structure. () IE ATHADIT GIT &
(@) Co is sp’d* hybridized. @) Co, sp’ wbRa &
81. Which is not the most common coordination 81. E<FES & Yditd HHFY T &y
number of Lanthanide? T e —
1 o 1 6
2 7 2 7
3) 8 3 8
@ 9 @ 9
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82. The non-bonding electrons of NH; are in 82, MIfFar # si—<f gelgei= forg MO ¥ SHI?
which of the following MO?
M 1a O la
(2) 2a; @ 2a
3) 3a; 3) 3a
@ 2 s @) 2 , ,
83. How does hydrogen fuel cell generate 83. TSSIoN SEM Jd HY (doiel]l S~ FHal
electricity? g? .
(1) By combustion (1) <89 gRI
(2) By fusion (2) WG gRI
(3) By fission 3) T gr
(4) By electrochemical reaction @) femeEEte affv gr
84. Consider the following reducing agents used 84. U&F UfesErms & = aifffeds) gRr
for reducing an aldehyde - TR T &
(@ NaBH« (@ NaBH4
(b) LiAlH, (b)  LiAlH: s
©) Zn-Hg/HC1 (©) Zn-Hg/HCl
(d) KOH-Ethylene glycot and heat (d) KOH-TiE @Esdid 3k a™
Alcohol is obtained by - - N1 Yoo Eldl UIwT siar &7
(1) (b)and (c) M ®)R ()R
(2) (2)and (b) @) @@Rb) ER
(3) (¢} and (d) @ ©@IR@s™
4) Alla), (b), (c) and (d) @ i (a), (b), () 3R (d)

85. Which of the following reagents is used in 85. 3mEifeiRag sl § S 1° 2°8)w 3°
separation and detection of 1° 2° and 3° 34 & YT U9 grpRer B e
amines? 27

g; g«sa?{sssgzﬂ (1) CeHsSO:Cl
4

(3) CHsCOCI g; Iélggga

@ HNO: @) HNO;

86. Assertion (A): Fluorine shows only one, —1 86. fEE (A): TN TERl ST & daa
oxidation state, whereas other Uh —1 SATFHIEROT 3[aeTT,
halogens show both positive Sgf%d 37 N KIS
and negative oxidation states. TG TP De IFTFaIHoT

Reason (R): Fluorine is the most TRyl By ¥
electronegative element, FROT (R): TR wdifte faermrh o
Select the correct answer - 21
(1) Both(A) and (R) are true and (R) is the T SR ﬂT'ﬁ _
correct explanation of (A) M [HEIA) 3R ®) 99 § sk R),
(2) Both (A) and (R) are true but (R) is not (A) @ IS IR B
the correct explanation of (A) @ = (4) 3R R) THE’I. g g ®),
A) is trme bt (R ix fal (A) o6& = T8 ¥
(3 (A)is true but (R) is false @) (A) T iR (R) s &
(4) (A) is false but (R) is true @ (A) T % 3R (R) T g-
14-4K Page 19.0f 32
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87. Regarding the substitution reaction Sn2 of an  87. U@ U Ufedhol BSE &) Uleeeas sty
alkyl halide, which has a halogen bearing group Sn2 # fored galior wnfia 89 aren W
attached to chirality centre, the untrue gl e wia s S geIgn & &
statement is - Heer H o H2F & —
(1) Order of reaction in, eachk of alkyl 1) R BIR e taxe R
halide and nucleophile is one each. RGBS TP A TP BFl|
(2) Both RX and nucleophile are involved (2) ©Fi RX 3R qﬁaﬁw HspHT
is transition state. IR T N & |
(3) The configuration of the product is (3) Sw@ig P G RX B IWET
inverted relative to RX. ufeli®d gl
(4) More than one stereo isomers are @ T W e Bfm e wu
formed. T |
. ——— CH,-CHO+HCI : ————> CH,~CHO+
88. CH,COCI PA/BaSO, 3 88. CH,COCI PA/BaSO, CH,~CHO+HCI
The above reaction is called - IURITT SIfATHaT HEART § —
(1) Reimer-Tiemann reaction Q) SER—<EA ST
(2) Cannizzaro reaction (2) DR kT
(3) Rosenmund reaction (3) q‘[@rrpjug AfAfEar
(4) Reformatsky reaction @ Rotice aftma
89. Which of the following technology isnotuseful ~ 89. F=fRad # | B aFH11b H+YCY TN
for implementation of Computer Assisted IR @ AT gy Suantt & &7
Instructions?
(1) Hardware Technology (1) TERR dBdIE
(2) Software Technology (2) dIiTedW® dhA®
(3) Courseware Technology @) SRIER TN
(4) Training Psychology Technology . @) uREY FEREN doue
90. For an elementary second order reaction : 90. TU®m URIfAG AfAfHar : 2 A —» Sae, Bdg
2 A — products, the concentration of A reduces Pfc H B TIP URMS Arsdr
from initial 0.2 x 102 mol/L to 0.05 x 10? 02 x 102 mol/L & 99 10 fFe #
mol/L. after 10 min. What is the value of rate 0.05 % 102 mol/L. Y& SiiaT & | sifffskar & a1
constant of the reaction? fradis &1 7 R/ 27
1) 15L mol’! min'? (1 15L mol! min’!
(2) 15x% 10% L mol™! min’! 2 15x% 102 L mol™! min™
3 3.0 %x10° L mol! min™ 3 3.0 x10% L, mol! min™!
4) 0.75x 102 L mol™? min™! @ 0.75x% 102 L moi—l n.lin-l
91. Branch of psychology dealing mainly with 91. ¥Hifde™ @ 98 e off qega: Rer #
problems, processes and product of education gaEel, ufshamel iR Sael ¥ deRa
is known as - g —
(1) Educational psychology 1) At wfae=
(2) Psychological education (2) "R R
(3) Animal psychology (3) WY e
(4) Child psychology @) ST TR
14-4 Pagé 20 of 32
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92.

93.

94.

95.

96.

Among the following analytical reagents, 92.
which one is based on rare earth element?

(1) Ceric Sulfate

(2) Potassium permanganate

(3) Mohr’s salt

(4) Potassium dichromate

Consider the drugs for pain relief — 93.
(a) Morphine

(b) Heroin
(c) Aspirin
(d) Paracetamol

The non-narcotic drugs are -

(1) (a)and (b)

(2 (c)and (d)

(3 (¢)and (b)

@ (a)and(d)

Which approach to learning holds that people  94.
actively construct or make their own
knowledge and ‘reality is determined by the

-experiences of the learner?

(1) Constructivism
(2) Behaviouralism
(3) Functionalism
(4) Structuralism

Which of the following stage of moral 95.
development comes under conventional level
as prescribed by Kohlberg?

(1) Ego - Centric Judgement

(2) Interpersonal Concordance Orientation

(3) Punishment and Obedience Orientation

(4) Universal Ethical Principle Orientation
Incorrect statement about COz is - 96.

(1) COz has four vibration modes.

(2) Asymmetric stretch vibration of COz is
IR inactive.

(3) Symmetric stretch vibration of CO2 is
IR inactive.

(4) Bend vibration of CQ: is IR active.

IENfRd deerfie StER®! # BT gad

&I Iedi IR RING 7

1) 9R® dewe

2) R W”ANFE

(3) AR dgT

@) URRrH SEHRT
ENfaRaa Ti—ane T W fEr o8 —

(a) HWBH

(b) =TIsA

(c) TRARE

(@) WiRerta
AUE BT & —

1 (@ 3R ®)

@ (3R

(3 (©) ¥R (b)

@ (23R

e & fog e gfedior 98 aFar §
5 <7 Afhy ®U F IFT S SRR SR
g 3k ¥5 arafamar Remi & ogwal |
feifRa el 27 '

(1) AR

(2) AERAE

(3) vorRdE

@) TREAEE '
frrefolaa § 9 d9w e Qe @)
3R BlgaAdT §RT Yo TFRFTT WR &
icTa ST 87

(1) oA sfg folg

(2) TER THHU AAFRET

(3) TS AT AU SIHFE!

@) e A Rgia s
CO; & <&eT 9 T HAT & —

1) CO; # TR Fu7 foumrd &t 2

(2), CO, T JTAMT TI9 HUA SMEIR.
(R) ffshareiiet g 8 |

(3) CO,; FT FAMT T ARBIR. (IR)
Jfspareier grar &1

@) CO; @1 § P JFEIIR. (IR)
ferareiier 2T 21

14-1&7
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975" C0n51der the'hfollowmg processes - 97.
(a) _:Addmon of -AgNOs solution to KI
s kk_soiutmn .
(b). -Additionr of KI solution to AgNOs;
) selutlon )
© *~ Addition'of FeCls to excess hot water.
@ Addmon of -FeCl3 solution to NaOH

- (4) (a) and (c) only

ariferRad uferamell W R &1 —
(a) AgNO; fyermm & Ki faoes. 4

IECinill
(b KI faciga & AgNOs faeras H

EEipil

€ FeCh @ ¥ W@ @ ofag #
e

(@ FeCl fae™@= & NaOH fie@= ﬁ
|

AR die frad gm?

(1) I (2)

(2) Fad (b) 3R ()
(3) @aa (b) 3R (d)
4) T (a) ¥R (¢)

yfeoifas & —

9§ The bacteriocidal antibiotic is - 98,  iraroEl .
- @), Pen1c1111n » afafafesE
@) s
(3) TARTBITDIT
@ sReiEERE
99, wﬁﬁﬁm@aﬁmwmﬁm%—
(1) ==UITHD
(2) ©RHE
@) BE AR
@) T FIR AP DAl FHR
ie par 100. M ST 1 g et & —
(1. (1) 59BM
<) (2) 49BM
3).- 3) 39BM
4):: @ 2.8BM |
101.  seifaRed Refied) «® R &1 -~
H; (a)Ame-O
) AH (b)AHm_azvnfﬂzs:rm
- (@) AV posmve value (d) AVimix = RAS A
. Foratrue’ Iutzon, the-coirect answer is - T e & oy 98 SR B —
(1) : (. @ (2
- @l @ ©
3) (®X 3) ®
o @@ @ @
102. Parameters beIongmg to orthothombic crystal 102, 7% e fhvea e ¥ Haflig RFfex
system are 3 T —
M 'a b—C a=p=y=90° (1) a=b=c;a=p=y=90°
) 2 # fc a= B =y=90° 2) a#bzc;o=p=y=90°
- @) waEbAeya=p= 90° y=120° (3) a=bzc;a=p= 90° 7= 120°
ce @) as bcid=p=y=90° 4 a=b=c;a=p=7=90°
N S Page 22 of 32
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103. Arrange groups : 103. iﬂl'lf_a"r : N N
~CH:zOH, —CHs, ~H, ~CH,CH0H —CHOH, —CHs, ~H 3iR ~CHCH.0H &
in decreasing priority for R-S configuration - EE‘;‘I’[ . e i &g ?q 7o W
(1) ~CH,OH, ~CHs, ~CH,CH0H, -H (1) -CH;OH, -CH, ~CH;CH,OH, -H
(2) -H,-CHs, —-CH>0OH, -CH,CHOH (2) -H,—CH;, —-CH0H, -CH,CH,0H
(3) -CH:0H, ~CH;CH;OH, -CHs, -H (3) ~CHOH, -CH,CHOH, —CHs, -H
(4) -CH.CH.OH, -CH,OH, -CHs, -H @) -CH>CH,OH, —-CH,0OH, -CHs, -H
104. Wurtz reaction and Kolbe’s electrolytic 104. g siffRan oo Hﬁ@, ﬁﬂﬁ—&qﬂe?ﬁ fafdy
method cannot be used for the preparation of - BT RN 98] DY GHd &, 9977 § —
(1) Ethane @ v
(2) Propane 2 o=
(3} Methane 3 #F I
{4) Butane @) alé:f
105. Who was the propounder of Advance 105. W W9 Icd URAEM & Uoas &F .
Organizer Model? o7
(1) Richard Suchman 1 = =i+
(2) David Ausubel 2 3N gy
(3) J.S.Bruner 3 =T TR
(4) Joha P. Dececco @ < 6 S
106. The = - bonded organometallic compound 106. x - T wEUgs A DR vl
which has ethane as one of it’s component is - SH®BI UP UCHh & —
(1) Zeise’s salt 1) <9 dice
(2) Ferrocene 2 W
(3) Dibenzene chromium @) RIS HitEy
(4) Tetraethyl tin @) el e
107. The paramagnetic behavior of ion 07 is 107. gﬂ?ﬂ 0; & SITEHII. 0T B AR ST
explained by - - .
(1) Valency boad theory @ e fegr
(2) VSEPR theory (2 TrEsdar e
(3) M.O. theory @) T frer
(4) Hybridization of orbitals (4) T BT HHoT
108. +8 Oxidation state is shown by which of the 108. seNfifRag myor T-'ﬂ_g’aﬁ # 48 aifediepvor
following transition elements? IRT B3I NI veldlg o sy 27
(1) Co (1) Co
(2) Fe (2) Fe
(3) Mn (3) Mn
@ Os 4) Os
14-24 "Page 23 of 32

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
i | Google Play

109. Assuming that for a reaction 109. € 9 8Y b rMfhar
A(s) + X (aq) > A (aq) + X() A(s) + X (aq) > A% (aq) + X(s) B K¢ BT
K¢ is 2.0, calculate the standard potential of the = 2.0 &, O 9 & A4S fawd &1 A9 =)l
cell. GivenR—l;r = 0.06 Y| fear & 1% % = 0.06

1) 0045V 1 0045V

(2) 012V 2 012V

3) 0.0090V (3) 0.000V

(4 0.0018V 4 0.0018V .

110. Which of the following shows geometrical 110. i o9 g

isomerism? wEaaar feEmr 82
(1) Propylene (1) wifdei=
(2) 1-butene 2 1-=H
(3) 2 -—butene 3 2 -—E;La:(
(4) Isobufene @ 3“3@'@@7‘[

111. What is the name of technology that employed 111, 9% Teb-lice BT M FT ERCIRG R b
activities involving information which include TR @ FOie axdr 2 R
gathering processing, storing and presenting oAl § o7 Ueau W, YR
data, increasingly these activities also involve AR T B WA 2 9o ¥ =4
collaboration and communication? ik § TEarT AR gar o e &7

(1) Artificial commpnication technology M E AT THHE
(2) Information and‘communication @) g AR TR qEhE
technology — 3) gi% £ i

(3) Intelligence combined technology A 8
(4) Virtual technology @)

112. Base not common to both RNA and DNA 112 gﬂm ST RNA 8k DNA SHf § ST -6l

is - —
(1) Adenine ’ 1 e
(2) Guanine 2) R
(3) Cytosine (3) <R
(4) Uracil @ e
113. The reaction of toluene with Cl in presence of 113. CL @ TIgsa & @RI S AT GBI @I
heat or light does not yield — SuRefy & fpar 9 S Scaie T8 g
?
(1) Benzyl chloride %(1) AT RS
(2) Benzal chloride (2) d9e wWIRES
(3) Benzotrichloride (3) STTETERES
(4) Chlorobenzene @) TR
114. The oxidation state of cobalt in complex, 114. Hahd [COHNCH;CH:NH2)3]2(SO4)s #
[Co(H2NCH; CH2 NH2)s]2 (SO4)3 is - P DY AFEBT G § —
1)y +1 ®n +1
2) +2 2 +2
3 +3 (3) +3
@ 0 (zero) @ 0T
14-% Page 24 of 32
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115. The conductivity of 1x10° M acetic acid 115. 1x1073 M WiR® sra @ maav—cn// P
solution is 51075 S cm? mol™!. Calculate the 5%107° S cm?® mol? &1 ifcs s & g
degree of dissociation of acetic acid, if molar fOao T & 9mEr B T Y| Rer & %
conductivity of acetic acid at infinite dilution Vifes o &) HIoR areThdl 3T Al
be 400 S cm? mol . W 400 S cm? mol! & —

) 1.25 1 1.25
(2) 0.125 2) 0.125
3 001 3 001
4) 1.00 @ 1.00

116. Based on the standard reduction potentials —  116. | 3T T B IR W —
(a) Agt+e > Ag(s);+0.80V (a) Agt+e— Ag(s); +0.80V
b) Cr*+3e—-Cr(s):—074V (b) Crt4+3e—Cr(s);—074V
() Cu¥+2e—Cu(s);+034V () Cu*+2—Cu(s)st0.34V
(D AP*+3e > Al(s); —1.66 V (d) APt +3e — Al (s); —1.66 V
Identify the strongest reducing agent metal. TIRF TA—S I TSaE |

1 Ag (1) Ag
2 Cu (2) Cu
3 Al 3) Al
4 Cr @ Cr

117. In relation to glucose, match Lists 1 and 2 and  117. @ & Wee & &y 1 ok 2 &1 o
choose the correct answer from the code given R v T RY BT W w9l SR ggaE —
below — -1 -2

List—1 List—2 (ﬁgﬁ) (%iﬁ@f)
(Reagent) (Conclusion) (@ HISIIR (1) >C=0
(a) Prolonged (i) Presence of TP AT - il
heating  with > =0 frart SufRericy
HI ™
(b) Reaction with (i) Aldehydic ® g,f:qf B W (@) \3'5 SETSHST
HCN > C=0 ~C= O
(c) Oxidation with (ii) Six carbon (© Br W& & (i) TE-BET
Br, water straight chain NURISAERN] @Eﬁ el
(d) Acetylation (iv) Presence of @ AfReR  (iv) u=m  —OH
five —OH qHE Eal
groups SuRfa
Code - R —
a b c d a b c d
(1) i i ii iv ) iii i i iv
2) i ii iv iii 2) i ii iv iii
3 i iv iii i 3 i iv iii i
@ iv iii ii i ) iv iii ii i
118. The number of possible monochloro structural 118, (CH3),CHCH,CH:; ¥ Uik wRaIr®
isomers from (CH3),CHCH2CHs is - AIFART GHETE] Y T § —
1 3 (1 3
2 4 2 4
3 5 3 5
@ 6 @ 6
14-4 Page 25 of 32
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119. The formation of one mole SO3 from SO and
O2:
SO,(g) + %02 (g) - SO5(g) is exothermic by

97000 J at 300K, when the reaction is carried
out at 1 atm. pressure in a bomb calorimeter.
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119. U A SOs &7 SOy Td O | Fwad
SOz(g)+ Oz(g)—>503(g) 97000) gRT
300K W * STy T o9 wfRfear 9
Feidliey F 1 atm. TF W BNE TS| 59
affrar & f&IT AH &7 A9 @& 8RN

What is the value of AH for this reaction (R = 8.37)?
(R =8.3)7
(1) 974901 (1) 9749073
(2) —-96755] (2) -967557
(3) 995001 (3) 995007
4) 982457 4 982451
120. ‘Which of the following statementis ot true for 120,  efifeiRaa ®emi # BiTam LCAO fafr <
LCAO method? forg wdr == 27
(1) Combining orbital must have the same 1) TS T FEHH BT GOl A el
or.nearly the same energy. ST 99 BT AR |
(2) Combining orbitals must have the ) e T HEH B TR, &Y
same symmetry about the molecular HeE % THE BN @Y |
axis. AT TRHAY]
(3) A p;orbital of one atom can combine ) E;ﬁ a;arcﬁ_c‘g[r P 25% i
with p; orbital of another atom. @ P T ﬁzﬁ%
(4) A px orbital of one atom can combine 3«? 1 N Px 1
with p. orbital of another atom, P BEP X GS WP 2l
121. Assertion (A): Nitrogen shows a maximum 121. ST (A): H‘I?@I’GF'I ST eIt
covalency of 4 whereas 4 yEiRia o & weis
phosphorus shows a maximum tﬁr\rqmﬂ 6 weidla F=ar 21
covalency of 6. BRI (R): "MEFIST ®I T FOMHSAL,
Reason (R): Nitrogen has-higher peRg ¥ iftie Bd B
electronegativity than phosphorus. TE SR _?Fh
Select the correct answer - (1) 3TF(A) R ®R) T # 3k ®),
(1) Both (A) and (R) true and (R) is the (A) T WE AR B
correct explanation of {A) (2) THI(A) 3R R) ¥ § WY (R),
(2) Both (A) and (R)-are true but (R) is not (A) B TE ARSI T T
the correct explanation of (A) 3) (A) ¥4 T 3R (R) A S
(3) (A)istrue and (R) is false @ (A) o9F ¢ R (R) U 8
(4) (A)is false and (R) is true
122. Among the following complexes, the 122. 3EhiferiaT Hepall ¥, M sl & el
maximum AgCl precipitate shall be given ¥ ST AgCl BT AU BiF TERI
by - P?
@O [Co(H20)%]Cl3 1) [Co(H20)6]Cls
(2) [Co(H20)3Cls] (@) [Co(H20)3Cl3]
(3) [Co(H20)4CLICl (3) [Co(H20)4Cl:]Cl
4) [Co(H20)sClICL 4 [Co(H20)5ClICl2
123. Enthalpy of vaporization of benzene is +35.3kJ 123,  dqile &1 aT{IaHoT P ST THP FIRIAID
mol? at its boiling point 80°C. The entropy 80°C W +35.3 kI mol' 8, U9 SO a9 B
change in the transition of the vapour to liquid %9 B HA @ forg T # aRee &
at its boiling point (in JK Imol ) is - (JK‘imol'l H—
1 -441 1 441
@ -100 @) -100
(3) +441 (3) +441
4 +100 4 +100
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124.

125,

126.

127..

128.

Which of the following is not the characteristic
‘of communication?

(1) Communication is dynamic

(2) Communication is continuous

(3) Communication is reversible

(4) ‘Communication is interactive

The half-filled and fully filled electronic
configurations are more stable than partly filled
configurations due to -

(1), exchange energy

(2) lattice energy

(3) ionization energy

(4) électron affinity

Which of the following is a primary law of
learning given by Thorndike?

(1) Law of Association Shifting

(2) Law of Readiness

(3) Multiple Response

. (@) Law of Partial Activity

In case of an ideal gas Joule Thomson
coefficient is -

(1) Zero

(2) Positive

(3) Negative

(4) Infinite

A graph plotted between log k v/s 1/T for
calculating activation energy is shown by -

1)
1
logk

T —*
@)
ngl i
. ur —*
3 I
~10gk j
1T—
@ I
logk
T —

125.

126.

127.

128.
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129. Sucroseisa- 129. gord T -
(1) monosaccharide 1) TARIPES
(2) disaccharide (2) <SEIFUSS
(3) oligosaccharide (3) differiimvss
(4) reducing sugar @ T wEN
130. Which of the following metals provide 130. awifRaT argell ¥ H W AT &1 T
cathodic protection to iron? q HeifSsd gRem el &7
(1) AlandCu () AlSRCu
(2) MgandZn (2) Mg3RZn
(3) Znand Cu (3) Zn3RCu
(4) AlandNi @ Al3RNi
131. Consider the following epoxides — 131. eEfRad suaEe Aiffiel ) fER o —
{a) 2 - ethyloxirane @ 2- TS ASNRINT
(b) 2,3 - epoxybutane (b) 2,3 —qURRIERA
(¢) 2,2 - dimethyloxirane (© 2,2- E@f@lﬁeﬁm
The molecular formula C4HsO represent which FRFA CaHsO SuferiRed & e Tid
of the above? HRAT BF
1) (a)only (1) I (a)
(2) (b)only 2) I (b)
(3) (b)and (c) only @) ®ad (b) AR (©)
(4 Allof (a), (b) and () @ (a),(b) 3R () T BT
132. The second order rate constant of a reaction at  132.  100°C WX U fgdli ®ife o ifAfsrar & <1
100°C is 3 x 10~ L mol™! s71. Calculate the i @1 w9 3 % 104 L mol™ s1 8 |
value of the rate constant at 400°C. Given that 400°C TR 37 Fagie o+ oid o9 Rar g ‘
the energy of activation of this reaction is equal 2 s aRfpar & ApaeT Sul w1 A
to zero. + ;
(1) 9x10*L mol!s™ ngj %; % 10 L mol* -1
(2) 15x% 10_4 L I.'IlOl"1 S_1 (2) 1.5 x 10—4 L mol! S—l
(3) I x 10_4 L mol‘l S__I (3) 3% 10—4 L mol—l S—lk
4 6x10*Lmol" s @) 6x10“L mol s
133. Consider the carbocation’s — 133. R far & -
@ @
CH,-CH-CH, —-CH, CH,-CH-CH, -CH,
(@ 1 (a) |
CH, CH,
@ @
(b) CH, ——(IZH—CHz —-CH, (b) CH, - (IZH— CH,-CH,
Cl Cl
@ @
© CH,-CH, —ICH—CH2 © CH,—CH, —(IIH—CH2
Cl Ci
The most stable carbocation is - AP IS BB & —
@ @ o (@
2 ) 2
3 © 3 (@©
(4) (b) and (c) equally stable @) (b) 3R (c) T wI F R
14-R Page 28 of 32
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134. Which of the following d — orbital is an axial 134. awEifREd d — ®erEl & @ o IFfT
d — orbital? d- F&F 87
(1) dxy (1) dyy
(2) dx (2) dx
(3 dl-2 (3) dd_,? -
@ dy @ dy
135. Which of the following molecule has seesaw 135. SmEIfeiRad et # fraah dgel amohy
shape? &7
(1) CIF; (1) CIFs
(2) XeF: (2) XeFs "
(3) SFs 3) SE:
(4) BrFs (4) BiFs
136. Among the following substitutéd aniline, 136. gl YHieiFl § waifte
which is strongest base? ST BT &7 , )
(1) o - aminoaniline @ o- TG
(2) m - aminoaniline 2 m-ERR
(3) p - aminoaniline (3 p-EEIERT
(4) p— methylaniline @ p - PN
137. The ty,o0f a first order reactionis 80 min. Inhow  137. & wemt B 1 aifdfran & g ty, BT A
much time the initial concentration of the 80 e &, 9. ifdfrar & fbar o &
reactant, which is 2.0 mol/L, shall be reduced URE A= gfe 2.0 mo]/]_,g‘r ar fas 99
to 0.25 mol/L? ¥ 0.25mol/L. 7§ SIR?
(1) 120 min " () 120 min
(2) 640 min (2) 640 min
(3) 240 min (3) -240 min
(4) 320 min (@) 320 min
138. Which of the following has the highest packing  138. /7 & W B4l Seeaaw Gga G&mT el
efficiency? - 27
(1) Simple cubic (1) <SRRI g9
(2) BCC (2) BCC
(3) HCP 3) HCP
(4) All have same efficiency @ 90 ¥ §H+ <ear &
139. About RMgX, untrue statement is - 139. RMgX & W9 ¥ oIy $9 & —
(1) It is prepared by addition of RX to an (1) 9T FHier RMgX @7t e
excess of suspended Mg in a solvent. ¥ Mefea Mg & GrI fiemey a3
(2} The solvent used must be nonprotic F
polar. (2) foomas smifes gd BT =@y |
(3 It can be stored like any other (3) THP I T 6 G I IR
ch_emical. . ‘ THT ¥
(4) Itis the most important organometallic @ I8 Mg & <aR® Tewgl
compound of Mg. HrERaE dif 2
140. The non-essential amino acid is - 140. SFIgTES T 3FT & —
(1) Alanine @ tefhe
(2) Valine 2 3=
(3) Leucine (3) thqﬂ:[
(4) Lysine @ <SS
14-2 Page 29 of 32
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In which of the following colividal forms both
dispersed phase and dispersion medium are

liquid?
(1) Butter (2) Milk
(3) SoapLather (4) Cloud

The bond order of each C—-O bond in carbonate
ion is -

m 1 2 2
3
3 15 @ 2
Which of the following is not a step of system
approach?

(1) System analysis

(2) System design and development
(3) System operation and evaluation
(4) System engine

Human  development follows  certain
principles, out of following principles which is
not correct?

(1) Development is a product of
interaction between heredity and
environment.

Development is a‘continuous process.
Development proceeds from specific
to general.

Different aspects of development are
interrelated. ]

The electrophile E® attack’ the benzeiie ring to
generate the intermediate c-complex, of the
following which o-complex. is of lower
energy?

@)

(2)
3)

@

@

141.

142.

143.

14,

145.

sEifefaa e wul § P <Fl
gﬁ%m@qﬁ@mwaﬂsﬁ
?

Q) wHFET @ @

(3) WgT B A (4) F&A
g@ﬁtwﬁWC—OWﬂﬁﬁ%

®m 1 2 §
3 15 @ 2
J PGl JOTell IFH &1 Ug
& 87
(1) Yol fgeryor
(2) YUl oY Q9 e
(3) WUl WaTed Ud el
@ 204

STTEROT Bl
gﬁwﬁfl@ﬁﬁ@?ﬁﬁﬁmﬂﬁﬂﬁ
?

(1) TP R U9 SgaRea $
T o= Topan B SIS 2

2 o™ yfthar 21

(3) R fatre ¥ wF & 3R 794
BT B

@) fRem P AP ge o SdfE &

Toge WEl E® 39 96 UR 3 P
FE o-Hael e 8, Fefafaa d 9
ﬁﬂchaﬁwﬁﬁwaﬁ%?

m

@

&)

@
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146. Which of the following is the second phase of 146. f=falRag § ¥ @ Joars  URETr
syntax of inquiry training model? URAM B HYaw T B i s 27
(1) Encounter with the problem (1) Y97 P IHAT BT
(2) Data gathering process for verification () Ycawvr 3 o siws] o7 dus
(3) Formulating an explanation (3) SN AT PRV BT SR er
(4) Analysis of the inquiry process @ vBars SR o1 Ry
147. Cannizzaro reaction is not shown in which of 147, SR afia fra ¥ @ e gefig
the following? &l g 27 .
(1) HCHO (1) HCHO
(2) CsHsCHO (2) CsHsCHO
(3) CH;CHO (3) CHs;CHO o
4) (CHs); CCHO (4) (CHs); CCHO
148. All of the following are characteristics of 148. SENRIRMT & wEd® IO S A U
benzene, except - S € R —
(1) benzene is planar 1) < ey @
(2) there is complete delocalization of @ - Wﬁ ‘IU'T?I'IIT Frenfg o ¥
- electrons .
(3) benzene obeys Huckel-rule ® o wer Fres 1 e et ®
(4) C-Cbond length in benzene,is 133pm @) C-C¥a 9 o1g 133pm BdY @
149.  Absorbance of a solution of a solute is not a 149, 5 Row & Regg SENINNIGE
function of - aenferae & fraer wem w8 27
(1) Amax - (D) Amax
(2) Concentration of solute (2) T & wrsar
(3) Molar extinction coefficient 3) ¥R Raw TN
(4) Path length of the cell @) et P vt T
150.  ‘Which of the following element does not come  150. Frfifed § @ wirar aog Ry LEICEIR
under scope of educational psychology? D AGYT 8T P et T8 e 87
(1) Nature of learning 1) HEw B uehy
(2) Growth and Development of Human 2 "9 =fag % aqquﬁg 3 ST
Personality fasrg
(3) Individual Differences @) fws A
(4) Mental Disease @) wERIE T
14-% Page 31 of 32
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